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Here are occupancy numbers vs. energy for q = 6. We start with a few levels where all states are occupied so it looks
more like a Fermi funciton! We similarly end with a bunch of unoccupied levels.

Fermilist = {{0, 1}, {1, 1}, {2, 1}, {3, 0.90909}, {4, 0.90909}, {5, 0.818181},
{6, 0.727272}, {7, -.636363}, {8, 0.545454}, {9, 0.454545)}, {10, 0.36363},
{11, 0.272727}, {12, 0.181818}, {13, 0.090909}, {14, 0}, {15, 0}, {16, 0}}

{0, 1}, {1, 1}, {2, 1}, {3, 0.90909}, {4, 0.90909}, {5, 0.818181},
(6, 0.727272}, {7, 0.636363}, {8, 0.545454}, {9, 0.454545}, (10, 0.36363},
{11, 0.272727}, {12, 0.181818}, {13, 0.090909}, {14, 0}, {15, 0}, {16, 0}}

FermiPlot = ListPlot[FermilList]
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ClearAll[x, T] v Oﬂ'\o‘\%.

FindFit[Evaluate[FermilList], 1/ (Exp[(x - 8.5) /T ] + 1), (T}, x]

{Te% T = cl.l‘+77/k

EntropyList = {{0, 0}, {1, 0}, {2, 0.69}, { See vav

3, 1.10}, {4, 1.61}, {5, 1.95}, {6, 2.40}} GQ%L F\)(_
{{o, 0}, {1, 0}, {2, 0.69}, {3,1.1}, {4, 1.61}, {5, 1.95}, {6, 2.4}} &U\Bﬁ\ %6\%4:‘\
ListPlot [EntropyList] \V\\v—o 6 \_\3
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@ . FindFit[Evaluate[EntropyList], a»x+b, (a, b}, x]
i . {a>0.429286, b->-0.180714}

. Temperature = 1/0.429286
s 2.32945 a_‘é ::)% = U= g\‘gg 7/L
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